

Home Search Collections Journals About Contact us My IOPscience

Comment on 'Note on generalization of Shannon theorem and inequality'

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2003 J. Phys. A: Math. Gen. 36 5157 (http://iopscience.iop.org/0305-4470/36/18/319)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.103 The article was downloaded on 02/06/2010 at 15:28

Please note that terms and conditions apply.

J. Phys. A: Math. Gen. 36 (2003) 5157-5158

## COMMENT

# Comment on 'Note on generalization of Shannon theorem and inequality'

## Hiroki Suyari<sup>1</sup> and Shigeru Furuichi<sup>2</sup>

<sup>1</sup> Department of Information and Image Sciences, Faculty of Engineering, Chiba University,

1-33, Yayoi-cho, Inage-ku, Chiba-shi, Chiba 263-8522, Japan

<sup>2</sup> Department of Electronics and Computer Science, Tokyo University of Science in Yamaguchi,

1-1-1 Daigakudori, Onoda City, Yamaguchi 756-0884, Japan

Received 6 November 2002 Published 23 April 2003 Online at stacks.iop.org/JPhysA/36/5157

#### Abstract

Kwork Sau Fa (1998 *J. Phys. A: Math. Gen.* **31** 8159) has shown an inequality  $(S(AB) \leq S(A) + S(B) + (1 - q)S(A)S(B))$  for two interacting systems *A* and *B*. A typical example of S(A) is the Tsallis entropy as stated in his paper. However, there exist many counterexamples to the above inequality. The reason leading to the incorrect result is also presented.

PACS number: 89.70.+c

In [1], the following inequality is proved for two interacting systems A and B,

$$S(AB) \leqslant S(A) + S(B) + (1 - q)S(A)S(B) \tag{1}$$

where S(A) is the generalized Tsallis entropy derived in [1]. A typical example of S(A) is the Tsallis entropy defined by

$$S_{q}^{T} = k \frac{1 - \sum_{i} p_{i}^{q}}{q - 1}$$
(2)

as stated in (2.19) and the conclusion in [1]. In this comment, we consider the inequality (1) in case  $S = S_a^T$ .

This short report shows that the inequality (1) does *not* hold in general. In fact, there exist many counterexamples to the inequality (1). The simplest counterexample is shown as follows.

Let *A*, *B* be two random variables taking two values 0 and 1. Then, consider the following simple joint distribution:

$$p(A = 0, B = 0) = p(1 - x)$$
  $p(A = 0, B = 1) = (1 - p)y$  (3)

$$p(A = 1, B = 0) = px$$
  $p(A = 1, B = 1) = (1 - p)(1 - y)$  (4)

where

$$0 \leqslant p, x, y \leqslant 1. \tag{5}$$

Obviously the probability p(A, B) ((3) and (4)) satisfies the conditions of joint distribution.

0305-4470/03/185157+02\$30.00 © 2003 IOP Publishing Ltd Printed in the UK 5157



Figure 1. Graph showing each side of the inequality (1). (-: left-hand side of (1), ---: right-hand side of (1)).

For the above joint distribution p(A, B) given by (3) and (4), we can compute the marginal distribution as follows:

$$p(A = 0) = p(1 - x) + (1 - p)y \qquad p(A = 1) = px + (1 - p)(1 - y)$$
(6)

p(B = 0) = p(1 - x) + px = pp(B = 1) = 1 - p.(7)

Clearly, there exist many  $p, x, y \in [0, 1]$  such that

$$p(A, B) \neq p(A)p(B) \tag{8}$$

$$\Leftrightarrow \quad p(A = i, B = j) \neq p(A = i)p(B = j) \qquad (i, j \in \{0, 1\}). \tag{9}$$

This means that the two systems A and B interact with each other. Paper [1] states that under the condition (8) the inequality (1) holds.

Let the left- and right-hand sides of (1) be  $L_q^T(A, B)$  and  $R_q^T(A, B)$ , respectively.

$$L_q^T(A,B) \equiv S_q^T(AB) \tag{10}$$

$$R_{q}^{T}(A, B) \equiv S_{q}^{T}(A) + S_{q}^{T}(B) + (1 - q)S_{q}^{T}(A)S_{q}^{T}(B)$$
(11)

where we consider the case  $S = S_q^T$  in the inequality (1) as stated before. When x = 0.1, y = 0.7 and q = 2.1,  $L_q^T(A, B)$  and  $R_q^T(A, B)$  can be plotted as a function of the probability p in one graph (figure 1). The solid line and dashed line in the graph shown in figure 1 represent  $L_q^T(A, B)$  and  $R_q^T(A, B)$ , respectively. This example shows that the inequality (1) proved in [1] does not hold in general.

$$S_q^T(AB) \nleq S_q^T(A) + S_q^T(B) + (1 - q)S_q^T(A)S_q^T(B).$$
(12)

There exist such many counterexamples to the inequality (1). The reason leading to this incorrect result is his following statement after (3.3) in [1]:  $g_j$  is as the total probability  $\sum_{i} p_{i}^{q} g_{ij}$  of finding the event  $B_{j}$  in system B'.  $g_{j}$  is not a probability because  $\sum_{j} g_{j} = \sum_{j} \sum_{i} p_{i}^{q} g_{ij} \neq 1$  for any  $q \in R^{+}$ .

### References

[1] Fa K S 1998 J. Phys. A: Math. Gen. 31 8159